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Grade 11 Pre-AP Mathematics
Trigongmetry Unit Final Test
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(a) Compound angle identity (3 KU)
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(b) Graphical (Transformations) (3 KU)
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2. Using the methods listed below, demonstrate that the equation sin x+§ =sin x+sm% IS not an identity.

(@) Counterexample (3 KU)
Let x = :g" 'T"'-"\
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3. Evaluate the following trig ratios without using a calculator. Exact values are required!
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4. For each of the following, write an identity entirely in terms of the given trigonometric ratio.

(a) cos4@ entirely in terms of sin@ (5 APP)
cos 4t
= cos ((a4)) v
= Jeos”Ab = | v
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5. The following question deals with solving trigonometric e

(@) Shown below are the graphs of
y =(secx—1)(2secx—1) and y=6. State

approximate solutions to the equation
(secx—1)(2secx—1)=6 for xe[-27,27]. In
addition, mark the solutions on the graph. (6 KU)
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(b) cos3@ entirely in terms of cosé (5 APP)

cos 34
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quations both graphically and algebraically.

(b) Use an algebraic method to solve the equation

((sec x—1)(2secx—1)=6, where x e[, 7].

(5 APP)
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6. Solve the equation 4cos2x+10sinx =7 for the interval 0<x<2x. If necessary, and only if necessary, round
your answers to 1 decimal place. (7 TIPS)
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beosdx t10sipx = 7
"l'(l'—é?siy?x) +(Osmx=-7=0
e ~gsinex +0sinx =7 =0
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© Fsintx =10sinx +3=0
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7. The graph of f( ) 2 tan 2x —sec? x tan 2x
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5 is shown below. Write an equation for the identity suggested by
this graph then prove that the equation is indeed an identity. (10 TIPS)
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8. Write a quadratic trigonometric equation involving sinx whose solutions in the
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interval [0, 2] are the same as the x-intercepts of the graph shown at the right ?_ i
Show that your equation yields the correct solutions. (4 TIPS) : '[,
T . Z L Thi o
20 I S ) S PP, ) e 2 e e
sinx|| % + | -% -4 WS thal N2 AT
2 2 2 Wsdghous 2
. . . Y™MAAS (% 3]
be —u‘e 6“!31'\ SdU{IOV\S i Eo a’“] v 51;— ZQ s ? ’ 7%7’_ ﬂé-
4 _L <’ ) (.
Slm'x 2 Or Sin = b

SMx-g‘( =0 or S‘mfx-t‘L 0

| mark—?%(*ﬁ{“""
© Ginx-L)(smx+g) =0

’, sm;"x ""J,'F"‘o
HGsmP’x—1 =0

L

3 marke > Justoi cation
Fm)/ of thee
égxze'(? O(CCQ KU APP TIPS | COM
Jus l)clca+10” s given 0-6-0/-0



